

۱۴, ۵

B

نام و نام خانوادگی آریا طائی پاسخنامه تشریحی تکلیف شماره ۱.۸.. کلاس یازدهم ویرایش

$$A = \tan\left(\frac{\pi}{4}\right) \rightarrow \tan\left(-2\theta + \frac{\pi}{4}\right) = \tan\left(\frac{\pi}{4}\right) \rightarrow -2\theta + \frac{\pi}{4} = \frac{\pi}{4}$$

$$\rightarrow 2\theta = \frac{\pi}{4} \rightarrow \theta = \frac{\pi}{8} = A$$

$$B = \tan\left(-2\theta + \frac{\pi}{4}\right) = 1$$

$$S = \frac{1}{2} \times BO \times AC = \frac{1}{2} \times 1 \times \frac{\pi}{4} = \frac{\pi}{8}$$

$$C = \tan\left(-\frac{\pi}{4}\right) = \tan\left(-2\theta + \frac{\pi}{4}\right) \rightarrow \frac{-\pi}{4} = -2\theta + \frac{\pi}{4} \rightarrow 2\theta = \frac{\pi}{2} \rightarrow \theta = \frac{\pi}{4}$$

$$\theta = \frac{\pi}{4} \rightarrow \frac{\pi}{4} - \frac{\pi}{4} \sin \alpha - \frac{1}{4} (\cos \alpha)^2 \rightarrow 1 - 2 \sin \alpha - 1 (\cos \alpha)^2 = 0$$

$$\rightarrow 2 \sin \alpha - 2 \sin \alpha + 1 = 0 \rightarrow (\sin \alpha - \frac{1}{2}) (\sin \alpha - \frac{1}{2}) = 0 \rightarrow \sin \alpha = \frac{1}{2}$$

$$1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} = \frac{1}{\frac{1}{4}} = 4$$

$$1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} \rightarrow 1 + \tan^2 \alpha = \frac{4}{1}$$

$$\sin \alpha = \frac{1}{2} \rightarrow \cos \alpha = 1 - \frac{1}{4} = \frac{3}{4}$$

خواسته به فرمول ها باشد !!

$$\log(\sin \alpha) + \log(\cos \alpha) = \log 3 \rightarrow \log(\sin \alpha \cos \alpha) = \log 3$$

$$\sin \alpha \cos \alpha = 3 \rightarrow \sin \alpha \cos \alpha = 3 \rightarrow \sin \alpha \cos \alpha = 3$$

$$\log(\sin \alpha) - \log(\cos \alpha) = \log 3 \rightarrow \log \frac{\sin \alpha}{\cos \alpha} = \log 3 \rightarrow \tan \alpha = 3$$

$$\rightarrow \sin \alpha = \frac{3}{\sqrt{10}} \rightarrow \cos \alpha = \frac{1}{\sqrt{10}} \rightarrow \sin \alpha + \cos \alpha = \frac{3}{\sqrt{10}} + \frac{1}{\sqrt{10}} = \frac{4}{\sqrt{10}}$$

$$\sin^2 \theta + \cos^2 \theta = \frac{5}{2} \rightarrow (1 - \cos^2 \theta) + \cos^2 \theta = \frac{5}{2}$$

$$\rightarrow 1 - 2 \cos^2 \theta + \cos^2 \theta + \cos^2 \theta = \frac{5}{2} \rightarrow \cos^2 \theta - \cos^2 \theta = \frac{1}{2}$$

$$\rightarrow \cos^2 \theta - (1 - \sin^2 \theta) = \frac{1}{2} \rightarrow \cos^2 \theta + \sin^2 \theta = \frac{3}{2}$$

$$\sin \theta \times \tan \theta - \frac{1}{\cos \theta} > 0 \rightarrow \frac{\sin \theta (1 - \sin^2 \theta)}{\cos \theta} > 0 \rightarrow \frac{\sin \theta \cos^2 \theta}{\cos \theta} > 0 \rightarrow \sin \theta \cos \theta > 0$$

$$\frac{\sin \theta (3 + \cos \theta)}{2(1 - \cos \theta)} < 0 \rightarrow \frac{\sin \theta (3 + \cos \theta)}{\sin^2 \theta} < 0 \rightarrow \frac{3 + \cos \theta}{\sin \theta} < 0$$

$$3 + \cos \theta > 0 \rightarrow \sin \theta < 0 \rightarrow \text{مماسه سهمی در دایره}$$

$$\frac{Y}{\sin \alpha} + \frac{P}{\cos \alpha} = 0 \rightarrow Y \cos \alpha + P \sin \alpha = 0 \rightarrow Y \cos \alpha = -P \sin \alpha$$

$$\rightarrow \tan \alpha = \frac{-Y}{P} \rightarrow \cot \alpha = \frac{-P}{Y}$$

$$\tan \alpha + \cot \alpha = \frac{-Y}{P} - \frac{P}{Y} = \frac{-Y - P}{Y} = \frac{-13}{9}$$

$$\frac{\sqrt{1 + \sin \alpha_0}}{\sin \alpha_0 + \sin \theta_0} = \frac{\sqrt{1 + \cos \epsilon_0}}{\cos \epsilon_0 + \sin \theta_0} = \frac{\sqrt{r} \times \cos \epsilon_0}{\cos \epsilon_0^r - \sin \theta_0^r + \sin \theta_0} = \frac{\cos \epsilon_0 \times \sqrt{r}}{r(\cos \epsilon_0 - 1 + \sin \theta_0)}$$

$$\frac{\cos \epsilon_0 \times \sqrt{r}}{r(\cos \epsilon_0 + \cos \theta_0 - 1)} = \frac{\cos \epsilon_0 \sqrt{r}}{r(\cos \epsilon_0 - \cos \theta_0)} = \frac{\cos \epsilon_0 \sqrt{r}}{r(\cos \epsilon_0 - \cos \theta_0)}$$

$$\left(\frac{1 - Y \sin \alpha}{\cos \theta_0} \right) \left(\frac{Y \cos \theta_0 - 1}{\cos \epsilon_0} \right) \left(\frac{1 - \tan \theta_0}{1 + \tan \theta_0} \right) = \cos \theta_0 \times \cos \epsilon_0 \times \cos \epsilon_0$$

$$= \frac{\sin \theta_0 \cos \theta_0 \times \cos \epsilon_0 \times \cos \epsilon_0}{\sin \theta_0} = \frac{1 \times \sin \epsilon_0 \times \cos \epsilon_0}{1 \times \sin \theta_0} = \frac{1 \times \sin \theta_0}{1 \times \sin \theta_0}$$

$$= \frac{1}{1} \times \frac{\sin \theta_0}{\sin \theta_0} = 1$$

$$\sin \alpha = \cos \left(\frac{\pi}{2} - \alpha \right) = \cos \alpha$$

$$\sin \alpha + Y \cos \alpha = Y \rightarrow \sin \alpha = Y - Y \cos \alpha \rightarrow \sin^2 \alpha = (Y - Y \cos \alpha)^2$$

$$1 - \cos^2 \alpha = Y^2 - 2Y^2 \cos \alpha + Y^2 \cos^2 \alpha \rightarrow 1 - \cos^2 \alpha - Y^2 \cos^2 \alpha + 2Y^2 \cos \alpha - Y^2 = 0$$

$$1 - \cos^2 \alpha - Y^2 \cos^2 \alpha + 2Y^2 \cos \alpha - Y^2 = 0 \rightarrow 1 - \cos^2 \alpha - Y^2 \cos^2 \alpha + 2Y^2 \cos \alpha - Y^2 = 0$$

$$1 - \cos^2 \alpha - Y^2 \cos^2 \alpha + 2Y^2 \cos \alpha - Y^2 = 0$$

$$\cos^2 \frac{A}{2} = \frac{1 + \cos A}{2} \rightarrow Y \sin B \sin C = 1 + \cos A \rightarrow A = \pi - (B + C)$$

$$1 + \cos(\pi - (B + C)) = 1 - \cos(B + C) = Y \sin B \sin C$$

$$1 - \cos B \cos C + \sin B \sin C = Y \sin B \sin C \rightarrow \sin B \sin C + \cos B \cos C = 1$$

$$\cos(B - C) = 1 \rightarrow B - C = 0 \rightarrow B = C$$

$$B = C \rightarrow A = 180^\circ - 144^\circ = 36^\circ$$

$$B = C = 72^\circ$$

$$\sqrt{1+\sin 2\theta} = \sqrt{1+\cos 2\theta} \xrightarrow{\text{قوسین مطابقی}} \sqrt{r \cos^2 \theta} = \sqrt{r} |\cos \theta| = \sqrt{r} \cos \theta$$

1

$$\sin \alpha + \sin \beta = \sin(\alpha + \beta) + \sin(\alpha - \beta)$$

$$\sin \theta \cos \theta + \sin \theta \cancel{\cos \theta} + \sin \theta \cos \theta - \sin \theta \cancel{\cos \theta} = 2\left(\frac{1}{2}\right) \cos \theta = \cos \theta$$

$$\frac{\sqrt{r} \cos \theta}{\cos \theta} = \boxed{\sqrt{r}}$$